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# -- coding:UTF-8 --
from secret import flag

def encrpyt5():
enc=""
for i in flag:
enc+=chr((a*(ord(i)-97)+b)%26+97)

return(enc)

encrypt4():

temp=""

offset=5

for i in range(len(enc)):
temp+=chr(ord(enc[i])-offset-1i)

return(temp)
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s = FE RIS R SRR AR A T AR R R R A R A R SR T i L SRR T S 3

*: "peep1e’, 'I1': ‘eees11’, 'Ti': 'eeeies’, 'H Z': 'eee1le’, "E': 'eee111’, 'if': ‘ee1ese’, 'RB': e
., 't ‘180011, ‘I=': '1601ee’, ‘IEEE": 31°, CBE': ‘1ee11@", 'FE': ‘1ee111’, ‘BAs': ‘1ei1eee’,

range(len(s)):
i
(]
continue
try:
1.append(dic[s[i]])
except:
1.append(dic[s[i]+s[i+1]])
k =1
ss = "'.join(l)

print(ss)
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enc = '
for 1 in P& (8, len(ss), 8):
enc += chr{eval( +s55[1:i48]))

print{enc)
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encryptd(enc):

(len{enc)):
chr(ord(enc[i])-offset-i)

2{len{enc)):
chr{ord(enc[i])+offset+i)
return{temp)

str="gqwert"
print(decryptd(encryptd(str)))
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a,b=5,7
=f encrpyt5(flag):
enc = "'
for 1 flag:
enc += chr((a*(ord(i}-97)+b) % 26+97)
return{enc)
T decrypt5({flag):

enc =
for i in flag
for k in range(28):
if (ord(i) - 97 - b+26%k) X a == 8:
enc += chr({ord(i) - 97 - b + 26 * k) // a + 97)
break
return{enc)

str = "guwert”
print{decrypt5(encrpyt5(str)))
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print{decrypt5 decryptd(s) )
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import base64

s = ' Fhad R IFGRHFR B B R BT T ARG S SR BT R G R o R SRR T R RE B R BT B VA SR K B TG L I B T B SR B R B R U

dic = {'3': 'e0eee0', 'F|': 'eeeeel', 'tk': 'eeeel0', 'W': 'eee0ll', '¥': 'eeo0lee’', ' ': 'eo0e0lel’', '#FE': '000
110', '/H': 'ee0lll', 'HE': 'eeleee’', 'R': 'eeleel', 'FE': 'eelele', 'Wi': 'eelell', '/hid': 'eellee', 'jE': 'eel
101', 'BER': 'eellle’', 'i&': 'eellll’', 'Jfi': 'eleeee', 'Z': 'Gleeel’', 'IK': 'eleele', '#:': 'eleell’, 'f#': 'elel
0', 'R¥f': 'elelel’', 'W': 'elelie’', 'iA': 'elelll', 'Ft': 'elieee’, 'f': 'elieel’', 'JH': 'eliele’', '#E': '011e
11', 'fE': 'e111e0', 'Hi': 'eilliel’', 'kid': 'e1ii1ie’, '#': 'e11111’,

"H': '100000', 'Bi': '100001', 'H': '100010', '3': '100011', 'FE': '100100', 'WEME': '100101', 'BE': '10
0110', 'IBE': '100111', 'BFE': 'l10l000', 'FE': 'leleel', 'BEsF': '101010', 'K A': 'lele1l', 'F': '1e1100', 'H
': 'lel1e1', '#F': '1e1110', 'HA': '101111', 'lE': '11e000', '#Hi': '11e001', 'F': '11ee10', 'HF': '11e011',
A%k’ : '11elee', 'B¥': '1lelel', 'i': '1lelle', 'JE': '1le111', 'F': '111000', 'KF': '111e01', 'F': '111010',
NE': '111011', ' RH:': '1111e0', 'KF': '1111e1', 'R': 'i11111e', '¥': '111111'}

1 =[]
k = 0 # BINFERHIEREN
for i in range(len(s)):
if k 1:
k =0

continue




V.
1.append(dic[s[i]])
except:
1.append(dic[s[i]+s[i+1]])
1

for i in range(®, len(ss), 8):
enc chr(eval('@b'+ss[i:1+8]))

# print(enc)

base64.bb64decode(enc) .decode()

offset 5
for i in range(len(enc)):

temp chr(ord(enc[i])-offset-1i)
return(temp)

decrypt4(enc):
temp v
offset 5
for i in range(len(enc)):
temp chr(ord(enc[i])+offset+i)

return(temp)

def encrpyt5(flag):

enc
for i in flag:

enc chr((a*(ord(i)-97)+b) 26+97)
return(enc)

decrypt5(flag):
enc v
for i in flag:
for k in range(20):
if (ord(i) - 97 - b+26*k)
ile chr((ord(i) 97
break

return(enc)

print(decrypt5(decrypt4(s)))
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